TLIX—=D I\ F —&FREHT)—R 2L I)LAVT AR YHFILE

HEFDER TFNDER
JIIE 452 R4k K4 B 132 RA b K4
=25 105 EH FiE 1205 98] Wl BFEE
2 94 BH {E= 2 92 FA BEETF
3 89 K FE 3 91 ftE B
3 89 ZF Ri- 4 60 XK %=
5 88 R
6 84 BE TE
7 82 =t B
8 81 LA EE
8 81 ER E
10 78 EE FH
11 77 REF EX
12 75| B E EE
12 75 Hft BEth
14 72 AR &
15 70 K& JtXER
16 69 g 14
17 68 = WE
18 66 IND ER
19 65 EE EX—
20 64 Fit 5B
21 60 NI
22 55 R B
23 52 ER R
23 52 i REK
25 49 Hh B
26 45 HE BeFE
ATYTY—=ILRATY)UNEFE UFILE
EEFOL £ 0]
B {32 EEPN K% B {32 FEPN K%
=285 16.82 EH FiE 285 28.03 ARk B%=x
2 17.77 HAf Ef 2 20.09] Il FEX
3 17.91 = WE 3 42 86 fAt+E &
4 18.03 i 2
5 18.08 EE ¥
6 18.74 £ FE
7 19.48] $rA b EfE
8 19.64 BHH %
9 20.17 =t B
10 20.24 A TTE
11 20.26 {EiE 1E45
12 2096] K&k FAER
13 21.19 ZF R
14 21.3 R
15 2261 He S
16 22.71 AR &
16 22.71 ER E
17 23.52 REF EX
18 23.64 AR &
19 23.8 2 xE
20 23.97 HE BE
21 25.87 WH EE




FLR—O9RAFTY) TP L—R YHF)LE

TFNDER
JIE 5z FEPN K%
2% 44.14 Z 82K
2 51.51 Hlll FEE
3] 1.03.60 AR %=
4] 1.1883] FEA BEF

HEFDER
JIE 5z FEPN K%
2% 36.6 ZF RI-

2 38.49 BE TTE
3 38.79 WH EE
4 43.69 Hf E#
5 45.89 iR 2
6 45.89 Heh B
7 47.04 T =A
8 48.33] KK FKER
9 50.99 ER £
10 51.85| HyA. Lt ZEfE
11 52.04 &R B
12 56.99 REF EX
13|  1.00.54 Fit 5B
14]  1.00.96 ER R
15  1.21.81 R B
16] 1.42.06 iR B

TLRI—=ORXT)UR TP L—R (HRSOMmUL T -E#HHISX) UHFILE

ZFDE
JIE 5z AL K%
285 4345  H)I FEE
2 45.49 ZF 82K
3 48.32 ARk B%=x

HEFDER
JIE 5z FEPN K%
285 38.99 LH EE

2 39 Hf E#
3 39.14 &R B
4 39.94 ZF R
5 40.44 R B
6 40.49 iR
7 42.33 iR B
8 4263 BEE TE
9 42 65 K& FKER
10 4303 Ha Lt EfE
11 43.52 REIRS
12 43.38 ER R
13 46.33 Efz B
14 46.64 Hh B
15 50.25 i 2

J—IyoHo0OhoTaTFILL—R HFEDLU)—XE1E;, YHFILE

TFDER
JIE 5z A L K%
2% 48.33 Z 82K
2] 1.32.93 ARk B%=x

BFDER
B {52 EEPN K%
2 8% 427 REF EX

p) 4277 R &
3 44.01 BEE TTE
4 48.88 ZF R
5 51.2 ER £
6 54.83 iR
71 1.01.27] KK FKXRER
8] 10273 HAE #EE
9] 1.11.59 He S
10 1.19.67 iR B










